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     INDIAN SCHOOL SOHAR 

     TERM –II EXAM (2022 – 23) 

      SUBJECT: MATHEMATICS 

                CLASS- III  

 

SET A 

   Date of Exam: 02-03-2023 

Time Allotted: 2 hours             Max. Marks: 40 

(Note: This question paper consists of 6 printed pages. Please check that you have all the pages.) 
      --------------------------------------------------------------------------------------------------------------- 
 

Name: _________________      Roll No.: _________ 

Section: ________                GR No: __________ 

      --------------------------------------------------------------------------------------------------------------- 

 

Subject Teacher’s Sign with date    Invigilator’s Sign with date 

      _________________________________________________________________________  

 

SECTION - A 

     Q1. Choose the correct answer from the given options.                                  (1 × 10 = 10)           

     i) What is the standard unit of measuring length?                                                (           ) 

          A. litre                 B. metre                 C. gram                   D. milligram 

     ii) What is the result of division called?                                                                   (           ) 

         A. remainder       B. divisor               C. product               D. quotient    

     iii) What is the numerator for the fraction  
4

15
 ?                                                      (           ) 

        A. 4                         B. 0                         C. 15                         D. 60 

     iv) What is the fraction of triangles in the following collection? 

                                                                                           (           ) 

        A. 
3

7
                      B. 

7

3
                        C. 

4

7
                           D. 

1

3
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     v) Which unit is used to measure the distance between Sohar and Muscat?       (          )                                   

         A. millimetre                  B. centimetre                   C. kilometre                 D. metre  

     vi) What is the quotient of 32 ÷ 2?                                                                          (          ) 

        A. 16                        B. 44                          C. 1                         D. 0 

     vii) What fraction of the figure is unshaded?   

                                                                               

 

                                                                        

  A. 
2

6
                       B. 

4

6
                             C. 

3

6
                         D.

6

6
                 (       ) 

     viii) How many metres are there in one kilometre?                                                (          ) 

          A. 10                      B. 100                      C. 1                         D. 1000 

     ix) What is one fourth of 20?                                                                                    (          ) 

           A. 4                      B. 20                        C. 5                         D. 10 

    x) What is the time when the minute hand is at 3 and the hour hand is slightly ahead of 5?  

            A. 5:15                 B. 3:15                     C. 5:45               D. 3:45                        (           )                                                                                                                                                                                                                                                    

    Q2. State whether True or False.                                                                 ( 1 × 5 = 5 )                                               

      i) 93 ÷ 93 = 0                                                                                                     (           ) 

      ii) Two thirds is written as  
2

3
                                                                            (            )                                

      iii) Litres are used to measure larger amount of liquid.                                     (            )       

      iv)  If Q= 3 and D= 9 then Div =  36.                                                                (            ) 

      v) Quarter past 8 is written as 8:45.                                                                   (            ) 
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     Q3. Match the following.                                                                           (1 × 𝟒 = 4) 

      i) Half of 30                                                    a) 60             ( ) 

      ii) 3kg 45 g                                                      b) 9:45             ( ) 

      iii) Quarter to 10                                              c) 15    ( ) 

      iv) 360 ÷ 6                                                       d) 3045g   ( ) 

SECTION – B 

                                                                                                    

       Q4. Do as directed:                                                                                     (2 × 6=12) 

       i) a) Write the division facts for 6 × 2 = 12 

           _______________________________________________________ 

           _______________________________________________________ 

             b) Find the quotient by long division method. 

                78 ÷ 3 

 

 

 

 

        ii) Colour one third of the collection and show the calculation. 
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     iii) Write the time in two different ways.    

                           _____________________________ 

                   _____________________________ 

    iv) Solve: 

         a) 
1

2
  of  36 

 

 

         b) 
1

4
  of  64      

 

 

    v) Convert the following: 

         a) 17 m 23 cm into cm 

 

 

          b) 8088 g into kg and g 

 

    vi) Divide and check your answer. 

             127 ÷ 6                          
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SECTION – C 

        Q5. Solve:                                                                                                         (3 × 3 = 9) 

 

      i) a)  A carton box weighs 4 kg. What will be the total weight of 165 such carton boxes? 

                         

Ans:_____________________________________________________________________ 

         

__________________________________________________________________________ 

         

__________________________________________________________________________ 

        

___________________________________________________________________________   

b) How many 500 g will make 1 kg? 

            

        Ans:  __________________________________________________________ 

                ___________________________________________________________ 

 

      ii) A club purchased 225 golf balls for 5 players. How many golf balls will be allocated to 

            each player ?     

  Ans:_______________________________________________________________________ 

          

__________________________________________________________________________ 

          

__________________________________________________________________________ 

          

__________________________________________________________________________ 

          

__________________________________________________________________________   
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  iii) Look at the pictures given here and then answer the following questions. 

                                           

 

                                                  

  

a) What fraction of girls are reading?      

 

   

 

b) What fraction of girls are eating?      

 

 

 

     

c) What fraction of girls are not reading?       
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     INDIAN SCHOOL SOHAR 

     TERM –II EXAM (2022 – 23) 

      SUBJECT: MATHEMATICS 

                CLASS- III  

 

SET B 

   Date of Exam: 02-03-2023 

Time Allotted: 2 hours             Max. Marks: 40 

(Note: This question paper consists of 6 printed pages. Please check that you have all the pages.) 
      --------------------------------------------------------------------------------------------------------------- 
 

Name: _________________      Roll No.: _________ 

Section: ________                GR No: __________ 

      --------------------------------------------------------------------------------------------------------------- 

 

Subject Teacher’s Sign with date    Invigilator’s Sign with date 

      _________________________________________________________________________  

 

SECTION - A 

     Q1. Choose the correct answer from the given options.                                (1 × 10 = 10)          

     i) What is the standard unit of measuring capacity?                                              (           ) 

          A. litre                 B. metre                 C. gram                   D. milligram 

      ii) What is the result of division called?                                                                   (           ) 

         A. remainder       B. divisor               C. product               D. quotient    

     iii) What is the numerator for the fraction   
6

15
 ?                                                      (           ) 

         A. 4                         B. 6                         C. 15                         D. 60 

     iv) What is the fraction of rectangles in the following collection? 

                                                                                            (           ) 

         A. 
3

7
                      B. 

7

3
                        C. 

4

7
                           D. 

1

3
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     v) Which unit is used to measure the distance between Sohar and Muscat?        (          )                           

         A. centimetre                 B. millimetre             C. kilometre            D. metre  

     vi) What is the quotient of  48 ÷ 3?                                                                         (           ) 

        A. 44                                B. 16                          C. 1                         D. 0 

     vii) What fraction of the figure is unshaded?   

                                                                               

 

                                                                        

  A. 
2

6
                       B. 

4

6
                             C. 

3

6
                         D.

6

6
                 (       ) 

     viii) How many metres are there in one kilometre?                                                (          ) 

          A. 10                      B. 100                      C. 1                         D. 1000 

     ix) What is one fourth of 40?                                                                                   (          ) 

           A. 4                      B. 20                        C. 5               D. 10 

    x) What is the time when the minute hand is at 3 and the hour hand is slightly ahead of 6?  

            A. 6:15                 B. 3:15                       C. 5:45            D. 3:45                         (           )                                                                                                                                                                                                                                                    

    Q2. State whether True or False.                                                                 (1 × 5 = 5)                                              

      i) 63 ÷ 1 = 0                                                                                                    (           ) 

      ii) Two thirds is written as  
2

3
                                                                          (           )                                

      iii) Centimetres are used to measure length .                                                   (           ) 

      iv)  If Q= 4 and D= 9 then  Div =  36.                                                              (           ) 

      v) Quarter past 8 is written as 8:45.                                                                  (           ) 
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     Q3. Match the following.                                                                            (1 × 𝟒 = 4) 

      i) Half of 20                                                      a) 20             ( ) 

      ii) 3kg 45 g                                                       b) 8:45   ( ) 

      iii) Quarter to 9                                                 c) 10    ( ) 

      iv) 160 ÷ 8                                                        d) 3045g   ( ) 

SECTION – B 

                                                                                                    

       Q4. Do as directed.                                                                                    (2 × 6=12) 

       i) a) Write the division facts for 6 × 4 = 24 

           _______________________________________________________ 

           _______________________________________________________ 

             b) Find the quotient by long division method. 

                76 ÷ 4 

 

 

 

 

        ii) Colour one third of the collection and show the calculation. 
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     iii) Write the time in two different ways.    

                           _____________________________ 

                   _____________________________ 

    iv) Solve: 

         a) 
1

2
  of  34 

 

 

         b) 
1

4
  of  96      

 

 

    v) Convert the following: 

         a) 11 m 23 cm into cm 

 

 

          b) 6088 g into kg and g 

 

    vi) Divide and check your answer. 

             129 ÷ 6                          
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SECTION – C 

         Q5. Solve.                                                                                                    (3 × 3 = 9) 

 

      i) a)  A carton box weighs 4 kg. What will be the total weight of 145 such carton boxes? 

                         

Ans:_____________________________________________________________________ 

           

_________________________________________________________________________ 

         

_________________________________________________________________________ 

        

_________________________________________________________________________  

b) How many 500 g will make 1 kg? 

            

        Ans:  __________________________________________________________ 

                ___________________________________________________________ 

 

      ii) A club purchased 215 golf balls for 5 players. How many golf balls will be allocated to 

            each player ?     

  Ans:_____________________________________________________________________ 

                 

__________________________________________________________________________ 

          

__________________________________________________________________________ 

          

__________________________________________________________________________ 

          

__________________________________________________________________________   
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  iii) Look at the pictures given here and then answer the following questions. 

                                           

 

                                                  

  

a) What fraction of girls are reading?      

 

   

 

b) What fraction of girls are eating?      

 

 

 

     

c) What fraction of girls are not reading?       
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